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MATHEMATICS 
1. Solve at least five unsolved question paper from CBSE sample paper 

  

 

 

2. If the roots of the equation  𝑎 − 𝑏 𝑥2 +  𝑏 − 𝑐 𝑥 +  𝑐 − 𝑎 = 0  are equal,  

Prove that 2a = b + c. 

 

3. The sum of the first n terms of an AP is given by Sn = 3n
2
 – 4n .Determine the AP  

and the 12
th

 term. 

 

 

 

5. Draw a triangle ABC with side BC = 7 cm,B = 45°,A = 105°. Then, construct atriangle 

whose sides are times the corresponding sides of  ∆ABC. (write steps also) 
 

6. A train takes 2 hours less for a journey of 300 km, if its speed is increased by 5 km/h from its  

usual speed. Find the usual speed of the train. 

 

OR 

 

      Two pipes running together can fill a cistern in 3
  1  

13
 minutes. If one pipe takes 3 minutes  

more than the other to fill it, find the time in which each pipe would fill the cistern. 

 

7.  A two digit numbers is such that the product of its digits is 18. When 63 is subtracted from     

       The numbers, the digits interchanging their places. Find the number. 

 

 
 

8.Three circles are described touching each other at two places externally. If the sides of 

       Triangle are 4 cm, 6 cm, and 8 cm, find the radii of the circles. 

 

9. The line joining the points ( 2, 1 ) and ( 5, - 8 )is trisected by the points P and Q. if the point P  

lies on the line 2 x – y + k =0, 

       Find the value of k in both case (if point P near point A or   point P near point B.) 

 

                                                                   OR 

 

       In what ratio does the y-axis divide the line segment joining the point p ( - 4, 5 ) and  

       Q ( 3 , - 7)? Also, find the coordinates of the point of intersection. 
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10. The angle of elevation of a cliff from a fixed point is  . After going up a distance of k metres 

towards the top of the cliff at an angle of ∅ , it is found that the angle of elevation is 𝛼.  

Show  that the height of the cliff is 

 

𝒌
 𝐜𝐨𝐬∅ − 𝐬𝐢𝐧 ∅ 𝐜𝐨𝐭 𝜶 

𝐜𝐨𝐭  −  𝐜𝐨𝐭 𝜶
 

 

 

 

OR 

    A hoarding 1.46 m tall, stands on the top of a pole, which shows the need for abolition of 

childlabour in the society. From a point on the ground, the angle of elevation of the top of  

the hoarding is 60 and from the same point the angle of elevation of the top of the pole is 45. 

 

(i)  Find the height of the pole (Use  3= 1.73). 

(ii) What are the ill effects of child labour on a society 

(ii) Write any two ways by which the child labour can be abolished 

11.  If the co-ordinates of the mid-point of the sides of a triangle are (1, 1), (2 , - 3) and (3, 4 ).  

Find the centroid. 

 

12. Complete Three maths activities in activity file. 

13. Solve 5 questions daily from ncert textbook 

SANSKRIT
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SCIENCE 
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SOCIAL STUDIES 
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HINDI 

 


